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Sample Test Paper : Class-IX

SECTION — A : PHYSICS

The Newton’s laws of motion are valid in :

[Motion]
(A) Inertial frames
(B) Non-inertial frames
(C) Rotation frames
(D) Accelerated frames

SECTION — B : CHEMISTRY

Seema visited a Natural Gas Compressing Unit and found that the gas can be liquefied under specific

conditions of temperature and pressure. While sharing her experience with friends she got confused. Help her
to identify the correct set of conditions :

[Matter in Qur Surroundings]
(A) Low temperature, low pressure
(B) Hightemperature, low pressure
(C) Low temperature, high pressure

(D) Hightemperature, high pressure

SECTION - C : BIOLOGY

Match the following and choose the correct option :

Column-I Column-II
(a) Osteocytes (1) Fluid connective tissue
(b) Schwann cells (1) Skeletal tissue
(¢) Thrombocytes (i) Areolar connective tissue
(d) Fibroblast (iv) Nervoustissue

[Tissues]
(A) (a) = (), (b) — (i), (c) = (ii), (d) = (iv)
B) (a) = (i), (b) > (v), (¢) = (@), (d) — (iii)
(©) (a) — (i), (b) = (ii), (¢) = (1), (d) = (V)
(D) (a) = (i), (b) = (iv), (¢) = (iid), (d) = (@)

SECTION — D : MATHEMATICS

Kavya has (x° + x> — 2ax — 2b) Sweets. In order for no sweets to be left over, she can equally share them

among either (x —2) children or (x + 1) children. If x=15, then find the number of sweets she has.
[Polynomials]

(A) 78 (B) 100

(C) 126 (D) 140
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5. A rectangle with perimeter 88cm is partitioned into 5 congruent rectangles, as indicated in the diagram. The

perimeter of each of the concurrent rectangle is :

[Triangle]
(A) 48cm (B) 40cm
(C) 34cm (D) 30cm
6. A point (a, b) in the plane is such that |a| <4, |b <| 4 where a,b are integers, then what is the probability that the
distance from origin is at most two units ?
[Coordinate Geometry]
@ - ® =
18 81
© 5 o
81 64
7. If |x—3|=2, then values of x are .
[Einear Equations in Two Variables]
(A) x=1landx=5 (B) x=5andx=-1
(C) x=2andx=3 (D) x=—landx=-3
8. The number of ways of writing the number % in the form %—g (a, b areintegers) :
[Number System]
A 1 (B) Infinitely many
©) 0 (D) Finitely many
SECTION — E : .LOGICAL REASONING & 10
9. Question : How much was the total sale of the company ?
Statements :
I.  The company sold 8000 units of product A each costing Rs. 25.
II. This company has no other product line.
[Data Sufficiency]

(A) Talone is sufficient while IT alone is not sufficient
(B) I alone is sufficient while I alone is not sufficient
(C) Either Ior Il is sufficient

(D) BothIand I are sufficient
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Read the following information and answer the question given below it :
Alka is older than Mala. Gopal is older than Mala but younger than Alka. Kapil is younger than Ram and Mala.
Mala is older than Ram.
Whose age is between Gopal and Ram ?

[Ranking & Ordering]
(A) Mala (B) Kapil
(C) Alka (D) None ofthese




